
Subject: Re: Satellite Swath Overlap
Posted by Chase Calkins on Wed, 12 Feb 2014 21:23:54 GMT
View Forum Message <> Reply to Message

Dear Andy,

You are correct on the results array, there are both (36,400) , slip of the finger

However, I think the problem with this, as though it looks right is the problem with the two files.

For example

Lat1(13000), Lon2(13000)
47.7115      106.192

Lat2(13000), Lon2(13000)
47.7185      80.8134

result1(13000), result2(13000)
0.00000         0.101473

So I'm not sure if it's comparing the right Latitude and Longitude when it compares the results. So
I'm wondering  if I need to line up the index's for it to be correct.

Thanks,

Chase
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